Unit 6 Lesson 6 Notes: Triangle Mid-Segment Theorem and Proportondiity Theorem

Triangle Mid-Segment Investigation: o ||
i@ et :

’(g\ sraph AABC where A(0,0), B(8,0), and €(4,6). Label each point. o | -

2. Find the midpoint of AC. Label this point D. o

3. Find the midpoint of CB. Label this point E.

6
4. Using a ruler connect point D and point E,
5
5. Determine the length of DE and 4B and record each below.
4
DE=_4 =0 S|l

6. What relationship do you notice between the length of DE and AB? -2
I(DEF AP

7. Find the slope of DE and the slope of AB and record each below.
Slope DE = __Q Slope 4B = _0Q

8. What do you notice about the slope of DE and AB? What does this mean about DE and AB?

lhey Qe Pavaliel becavse Theiv S\opcs are The Same. (06) = ke
Triangle Mid-Segment Theorem: In a triangle, the segment joining the 1M\ dthovn T of any two sides will be

@ ,D“ ValLe | to the third si(%e and _ tl AL FE s length. 2Aped=4

K

D is the midpoint of / § ; E is the midpoint of } E lé
DEspra L2 A
€ is parallel to DE = CB => 2(bB)= 2N
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LKEC Because if two parallel lines are cut by a transversal...
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\ ZADE = LA(-_PQ Because if two parallel lines are cut by a transversal. .. !
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<DAE = Acﬁb Because of the ‘Zgﬁ Tx\ve ?VD ?ﬂ’“"i
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zs is the midpoint of ‘ MZ and i 1s the midpoint of TL_S SO X \l is
parallel to _&g and & S =2 X \j

“ \_J is the midpoint of & .S and X is the midpoint of_&_& so &,S is
WY
|

parallel to XW and ‘ZS =2 l\{\/

N s the midpointof RS and W s the midpoint of XS 5o
parallel to _ QR ¥, and &g =2 UJ\_]‘
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Examples:

1. Find ZY 2. Find CE 3. Find FG
g Z2-JL c 5
\ 2(24) =06 .
zY =2
Z ¥ oI)'JIL :(,E S
2 LGS e A
J 3 L 12 =Ce
4. Solve for x 5. Solve for x
c
c
0 2+4+x
22
D 16 @ B t \R 5\4
Qhzy=pp 2(6R) = CA Y/
xt16) =10 I(22>= 21X 2TI)= VT
¥=Fio=lL L =214% I(2xt29)= 2¢
%= Hz = HXt<Ss=23
G HX =20
AT 1),E8
7. Find BR 8. Find LN ' 9. Find NM
4 M E N z N T
£ F py *-1 \
x+8 x+1
& x+13 W L e
- . .
Z?(Cr%: (uw) Q((DXEED ij JINM) = 2
(Y4§) = X1 B -
RS % o= L{Yx'%?%){"ll
= LN = {2)
CF =z (-3 = (1 Np=20120-12
‘ _:@ = 2511

A =)
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Parallel Proportionality Theorem: If i WO or more Pﬂ Vi I l¢ ¢| lines are cut by two or more transversals, then the

l('k!j . &’\ S _of corresponding segments are !mpi LY Hn na |
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